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1.

Each question carries 2 Marks.
fefb 2o = R |
Wild Life Protection Act was enacted in the year —
(A) 1975
(B) 1982
(C) 1972
(D) 1970

. T A SR ble] 2R (T Al —

(A) S»ac

(B) SavR

(C) S»aR

(D) s»a0
Non-conventional source of energy is —
(A) Coal

(B) Petroleum

(C) Fire wood

(D) Sun light
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(A) =TT

(B) Ccoltqiferas

(C) eI 1

(D) T
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3. Green revolution is associated with —

(A) Agriculture
(B) Pisciculture
(C) Aquaculture

(D) Sericulture

. WS [ A A e —
(A) 3

(B) N<5la

(C) SUFEIFETIF

(D) =R

. Which one of the following is easily biodegradable ?

(A) DDT

(B) Plastic

(C) Paper

(D) Aluminium
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(A) fe. fe. .

(B) 2=

(C) =lare

(D) e

. ‘Silent Valley’ is situated in the state of —
(A) Karnataka

(B) Kerala

(C) Tamil Nadu

(D) Andhra Pradesh
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(B) et
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6. Which of the following can cause damage to the Taj Mahal at Agra ?
(A) Sulphur di-oxide
(B) Nitrogen
(C) Hydrogen
(D) Oxygen
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(A) e TiZ-oEe
(B) 2GS
(C) 2RrgEm
(D) ifeem

7. Which one of the following is a mosquito-borne disease ?
(A) Chicken Pox
(B) Dengue
(C) Cholera

(D) Leukemia
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8. Full form of CNG is —

10.

(A) Common Natural Gas
(B) Compressed Natural Gas
(C) Common National Gas

(D) Certified Natural Gas
CNG-97 #1321 —

(A) 9 LI T

(B) <0G «ibl<let 5™

(C) <1 <r=reflet SirT

(D) AMGFICTE OIS 215171
Source of Carbohydrate is —
(A) Coconut oil

(B) Meat

(C) Salt

(D) Potato
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(A) “CIeT (9T

(B) =it

(C) =9

(D) iy

Rickets may be caused by —
(A) Vitamin A deficiency

(B) Vitamin C deficiency
(C) Vitamin D deficiency

(D) Vitamin K deficiency

(4)
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Suitable Plant for bio-diesel production is —
(A) Coconut plant

(B) Mustard plant

(C) Jatropha plant

(D) Sunflower Plant
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(A) IR M=

(B) =l siiz

(C) TG Mg

(D) FE

The main source of oxygen in atmosphere is —
(A) Respiration

(B) Excretion

(C) Photosynthesis

(D) None of the above
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Jaldapara is famous for the conservation of —
(A) Tiger

(B) Elephant

(C) Lion

(D) Rhinoceros

GETIPIG] I AT Gy e —
(A)

(B) s

(C) Ficz

(D) e

Mars is a —

(A) Planet

(B) Galaxy

(C) Star

(D) Comet
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(A) &=

(B) =Y

(C) =3

(D) FrFe

The earth receives energy from —
(A) Moon

(B) Sun

(C) Volcano

(D) Mars
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Global warming is mainly caused by —
(A) Carbon di-oxide (CO,)

(B) Temperature

(C) Oxygen (O,)

(D) Halogens
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(A) I Tig-w™ige (CO,)

(B) wtornat

(C) wifsTem (O,)

(D) lteTite

Who coined the term ‘Ecosystem’ ?
(A) A. G Tansley

(B) Charles Darwin

(C) E. Haeckel

(D) E. O. Wilson
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(D) 3. 's. TZepie
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18. Which one is the cold desert of India ?

18.

19.

19.

20.

(A) Thar
(B) Rann of Kutch
(C) Ladakh

(D) Bhopal

@D Slres res refi 2

(A) «=

(B) =Co=g 9

(C) =m¥

(D) celflet

Minamata disease is caused by —
(A) Mercury pollution

(B) Lead pollution

(C) Arsenic pollution
(D) Aluminium pollution
EISIBT Cicors F=e 26 —
(A) =lIm 739

(B) 30l el

(C) SNeffers 73l

(D) SRS
Earthquake is measured by —
(A) Barometer

(B) Thermometer

(C) Seismograph

(D) Manometer
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(A) TICAIRGR

(B) <G

(C) PEicsiae

(D) IO

Measuring unit of sound pollution is —
(A) Joule

(B) Watt

(C) Decibel

(D) Meter

*[aRel AARSICR 9T T —
(A) g

(B) <%

(C) copitas

(D) fo=

Eutrophication is related to —
(A) Noise pollution

(B) Air pollution

(C) Water pollution

(D) Food toxicity
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What is the full form of “WHO’ ?
(A) World Happy Organization
(B) World Health Organization
(C) World Heritage Organization
(D) World Heart Organization
‘“WHO’-«7 stz 32016 2’1 —

(A) SRS Fifel wrsfaizreme
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(D) eArS 26 SffiEre™

The lowest layer of atmosphere is —
(A) Ionosphere

(B) Troposphere

(C) Stratosphere

(D) Magnetosphere
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(A) SR

(B) @Az

(C) ZCIFwE

(D) SyaCCBIFF

‘Rain Water Harvesting’ is related to —
(A) Acid rain

(B) Conservation of rain water
(C) Water of deep tubewell

(D) Irrigation water
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